’”"".SOLUCIONES

PAGINA 3

c)Ax2+ 4x+ 1

P Faonomo | 5 0,3%4 ‘xy = "3"2y3 —2y3‘ e) 4x2-1
[corrcentel 5 ][ 0,3 ] —1/9 | 1/8 }k3/7 | - g) (x + 8)2
EXNN N N H;I__JI_J
i) [8x-2) (3x+ 2)
1
2 o 2 LS
2 a)-fy b 1.3 x b 2 o) x2+8x+16
2.
d)%m ¢ 0 = x3 ¢} 9x2-12x+ 4
e) 9 - bx + x2
3 a)2ab + 4a? b) x2+ 1 c)—l—i‘ab—]jaz g) X2 = xy + 9y?
10 i) x4-2x2+1
4 -6 b) 3a2b - —a3p3
f‘}];)’ )10 e 3 alx+5)?
d) - x2y3 e) 70 abbs o (x—1)2
. e} (3x+ 5) {3x— 5)
PAGINA 4 i
) {3x - 2y)
1 q 3x2—5x—% b) —2x2 + 7x g‘ )”2
: 1
i) X2+ =
c)—4x2-+)(*ﬁz— d}%x?—%x+%— 2
2 a) 10x3 - 20x2 + 35x RAGINA 7
<) 1 5 2 1
KR R 1 P Mw
2o 4 4 Lote A1 my 5
d-g&y- g Ao kygy el 2X3f5- 25
3 0}*6Xl2+11x~3 b) 3x2 - 10xy + 8y2
o KY w
c)-4x3 +7x-3 d) 6x3-31x2+ 33x+ 7 i) 6x -2y ) 3
1 4 2
) 2+ foxy = Ly .
B LB PAGINA 8
Doy~ 2 x%y2+ 12 13x- 10
15, 7 2 6%’ 1 o 1x-10
A4x2
PAGINA 5
§ AX— Ay + oxy
4 q)6x2-10x b) - c)-10x+ 22 c} 2X 812;23
d) -9x2 - 14x-2 ) -2x2 - 5x+ 3 f) 4y2
gl x2+ xy+2y2  h) 6x3 - 11x2y - 3xy? + 2y3 e)%
5 3 1
5 a) 3xy(x+2y-3x? b}a(~§+-—5#~-7— g 2(~2+ x+1)
x{x+2)
dabl-1+ £ - 3) d} 2 (4a + 5b - 3¢) ) 3270
e)b(2a+7b2—02) f){x+2}(7—5—3) x(x—T1)
, Ky 2
PAGINA 6 e

1 a)x2-6x+9 b) 9x? - 24x + 14

d) —ETx2+2x+4
f)o-x2
h) (5x - 1)2
2
il o~
b) 4x2 + 12x+ 9

d) 16x2 - 40x + 25
f)4x2- ¢

_h)%—yﬂ

x4 -1

b) (2x - 3)2
d) (x+ 2)2
B e T s 1)

e b 5]

i (x2 = x)2

3y? + x2 - 2xy
b) X232

x(5 - 2

d x—1

5x%% + 1
xx+1)

2
h 2x° + 3x-1
) x2-1
I) X 7)(—]5
(x+3)(x-2)
16 - x

!} 5(x-1)2




